run_13081005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Mar 21 07:00:07 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

Al o -ped

10?

[ 1000 2000

[ADC for FGT RDO=1,ARM=0,APV=1 }

3000

4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1LARM=0,APV=2 }

3000 4000

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=3 }

3000 4000

raw ADC

-ped

Al
=)

10?

0 1000 2000

[ADC for FGT RDO=1,ARM=0,APV=4 }

3000

4000
raw ADC

-ped

Al

10*

2000

3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

liil

°11r|]|

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}
= 4000 p—=
g = o o o o o 5
3’ 3500 f=—
< =
3000 f=—
=
2500 =
2000 f=—
1500 f=——
1000 E—
500 E——
ofE=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
= 4000 p—
g = . 2 2
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. . s R B

10

10

10

10

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 21 07:02:32 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 21 07:03:07 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

90

80

70

RMS (ADC-ped)

60
50
40

30

20

10

. . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=2 "}
) —

80

70

RMS (ADC-ped)

60
50
w0 [
30
20 |

10

i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=3__}

20 =
80 =

70

RMS (ADC-ped)

60

50

40 E

30

20

10

i i
20 40 60 80 100 120
APV channel

0

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

120 p

100

RMS (ADC-ped)

80 |-

60

40 fr

20

0 20 40 60 80 100 120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Mar 21 07:00:12 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

k=1
@
5

0
<
10°

10

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

-
°
[

0
<
10

10

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=9 |

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«
% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
oE—--
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
M =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. . . e

10°

10°

10°

10

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 21 07:02:34 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 21 07:03:08 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

140 p==rrT eI eI T I eI eI T TT T T T T T T I T TR T T I T T T eI eI TTTTT T T eI TS e T

120

100 [r

80 |

60

40

20

I
"
A
a
o
n
0

L i i i
20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

140
120
100 |
80 |
60 :
40 |

20

0

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

i i i i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

—
140

120

100 [+
—

80

60 [

20

a0 b
—

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

140

120 |

100 [
—

80 |
60
20 |-

20 |-

APV channel




run_13081005 FGT ADC 1,Timebin=2,Disc=1,asmb=1AB

Wed Mar 21 07:00:17 2012

ADC for FGT RDO=1,ARM=0,APV=12

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=13

1000 2000

3000 40(
raw ADC

ADC for FGT RDO=1,ARM=0,APV=14
—

1000 2000

3000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=15

-ped

Al
S

10?

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=16

-ped

Al
S

10

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
o=
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=—
=
500 f—
=
oE=
E_. . . i . . . i . . . i i . . i . . . i . . i .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=— |- - -
< =
3000 f=—|- - -
=
2500 f=—r|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 f=—|- -+
=
=5
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
opE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

.. .y i Es.d A

10

10

10°

10

10




run_13081005 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 21 07:02:35 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 21 07:03:09 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

i
120

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

RMS (ADC-ped)

APV channel

140 p—

120 |

100

80 |

0 [—

20

=

0

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

RMS (ADC-ped)

200 =
=

180 =
160 =

140 &

120 f=

100

80

60 |

40
20

0

=
=
=
0

[CADC RMS for RDO=1,ARM=0,APV=15__}

RMS (ADC-ped)

140 fi—

120 f=
=

100

80 |

60

20

0

APV channel

40 |

I
120

1
20 40 60 80 100

RMS (ADC-ped)

APV channel

APV channel




run_13081005 FGT ADC 1,Timebin=2,Disc=1,asmb=1AB

Wed Mar 21 07:00:21 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

Agoped

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

3000 4000
raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=19 |
—

1000 2000 3000 40(

raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=20

1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1ARM=0APV=21 }

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

500

0

° 'IHI]ITH

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=18 "}

4000

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 = e e e
% =

3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = =0
=
1500 f=—----- -
1000 f=—----- -
=
500 =t e - - - e e
=
() = ST
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. N L .

10

10

10

10

10°




run_13081005 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 21 07:02:36 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13081005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 21 07:03:11 2012

[ ADC RMS for RDO=1,ARM=0,APV=17 |
3 200
e
Q 180 [
g
Py 160 [
2 —
® 140
120 f=
100 =
80 [
60
40 E=
0 E—-
o = i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=18 "}
= 100 ==
5
8 n
< INEE N
o 80 [T
& R E
60 |-
]
HE
40 p—----
20 f—
o . . i . . . i . . . i . . . i . . . i . i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=19 |
=3 — 5
g 100 [— :
o — 2
a [ o
< . o
2 80 f—---- B
z - 2
= 2
60 b sodbdbogedldbes AR - - cee AR - A e BN A T
o 2
e et A 1 e {1 R AU RS O 1 R 1 e R o T 1 RS R
— 2
I P e R e ) 4 e TR R
- :
o i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=20 |}
%‘ —
ek
2 B
< 70 H—
Py =3
= =
© 60 [
s B
=
40 fp—
wE—
20 f/—
10 =
=
%
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=21 "}
=
]
G 90
[}
a
< 80
(2]
= 70

60

50

40

30 f——

20

10

0

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Wed Mar 21 07:00:26 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

-ped

Al
S

10

0

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

1000

2000

3000 40(
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

-ped

Al

10?

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=1,APV=4 l

Ag(}ped

1000

2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=0

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

APV channel

ADC-ped

[ ADC for FGT RDO=1,ARM=1,APV=1 }
4000 p— - - - - - -
3500 z— .-
3000 fe— - -
2500 = .
2000 i-— .-
1500 z— .-
1000 E— .-
500 f——
oE
E_. . i . . . i . . . i . . . i . . . i . . i

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
500 f=—
=
0f=—
= i i i i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
] = . .
& =
Q 3500 f=— sebe EEEE
< =
3000 f=— [E EE B R
2500 = R R R R
2000 fm— sajaagpeglasie
=
1500 f=— St R
1000 P=— - - - - b e e FE R TR A EEEE
= 8
= 8
500 p=— - - e e e qeoyeadpeglesye
e .
Of— -y CERRE R B B
= 5
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4

ADC-ped

4000
3500
3000
2500
2000
1500 =
=

1000
500

0

APV channel

... . . A R

10

10

10

10°

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 21 07:02:37 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 21 07:03:12 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

140

120

100

80

60

40

20

°'I'I'I]11I|ILL%'I'H H H.’[H‘I‘

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

180
160
140

120

100 |
80
60

40 =

20

0

|H‘I]1II[I‘I1IH

i
120
APV channel

[CADC RMS for RDO=LARM=L1,APV=3_}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 21 07:00:30 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

ISC=

imebin=2,Di
02:39 2012

Wed Mar 21 07

run_13081005_FGT_MPV_1,T

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13081005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 21 07:03:13 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 21 07:00:32 2012

[ ADC for FGT RDO=1 ARM=1,APV=12 | [ ADC for FGT RDO=1,ARM=1,APV=12 |
L — = 4000 p—
3 5] =
3 3 =
ot 9] =
8 Q 3500 F=
< =
3000 f=—
2500 fm—
10? =
2000 =
=
1500 f=——
10 1000 p=—
=
500 fm——
=
=
=
=
0 1000 2000 3000 4000 0
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1.APV=13 | [ ADC for FGT RDO=1,ARM=1,APV=13 "}
L - 4000 p—
3 5] = . . . . .
2 2 = :
(%] Q -
& 9 3500 =
< =
3000 f=—|- - -
2500 fm—r{- - -
10° =
2000 fm—|- - -
=
1500 f=—|- - -
=
10 1000 p=—»|- - -
=
500 |- - -
=
0
=L
0 1000 2000 3000 4000
raw ADC APV channel
[ ADC for FGT RDO=1LARM=LAPV=14 | [ ADC for FGT RDO=1,ARM=1,APV=14 }
L — - 4000 p—=
3 g = . . . . . .
g g = 2 2 2 2 2 2
O Q —
% Q 3500 f=
% =
3000 f=—
=
2500 =
10° =
2000 =
=
1500 f=——
10 1000 f=—
=
500 f=—
=
=
= i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1,APV=15 | [ ADC for FGT RDO=1,ARM=1,APV=15 |
o = 4000 p—
3 5] = . . .
3 S = :
%) %) =
& Q 3500 F=
< =
3000 f=—
2500 =
102 =
2000 =
=
1500 f=——
10 1000 p=—
=
=
500 f=—
=
=
=
=
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=1APV=16 || [ ADC for FGT RDO=1,ARM=1,APV=16 }
.- 4000
] 5 5 5 5 5 g
&
%) adboonancead ..
9 3500
<

3000 40(
raw ADC

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... 4 .4 .1 .40 .3

10

10

10°

10

10°




run_13081005 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 21 07:02:39 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 21 07:03:13 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

T00) | fhoccasscasscasscasacand fracacacacacscassaaasaad fossansaanesanesanasand fhocasacsaassasssasssaad Bossansaanesanesanasand P

80 |-

RMS (ADC-ped)

60
40 |

20 [-

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

i i
100 120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

= F— .
3 b— H
i . . . q
g 100 P m e e m e e e e e e e B N R o R R R R R
< -H :
o H
11 .
2 Ol = 2 o o EEEEEEETEEEE T | SERTETERTRTETETEY & EEEEEETTTETE F EEEPETE F EEEE AR | EERREAEREE T Uil i IR i f ¢ A bbbl by
[0 T Y Y P N SR N ) DR P (R N B I R F R T N T e N D [ I e I R S e B
40 f—-eeeeeeee B e bR Y e g RO Lk B O PEPRRT § SEEPRRR S § RPR ST AR sa U e PR F O Y S E Borl o 2 P E RERE
20 - st et R e R R R
o = i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=16 }
El ) | =—=c5505550550050005aD550050050038005500500TPE55005500500900550055055005005500530550050054D05530550050055005305004b095500500500050955005aD5000500
&
g n H
< 120 f——vrere e p e A EEEEEEEE] T T R R R R R L L LT T R LR R e
% . . . H H H
b
o

100 f

80
60 |
40 =

20

i . . . i
100 120
APV channel

0




run_13081005 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Wed Mar 21 07:00:36 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

gDOped

0 1000 2000 3000 4000

raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

1000 2000 3000 40(

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=20

-ped

Al
(=)

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

Ag(}ped

10*

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=19 }

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - -
% =
3000 f=—|- - - - - - - .
=
2500 f=—1- - - - - - - -
=
2000 = B
=
1500 =+ - - - - - - -
1000 p=—|- - - - - - - -
=
500 f=—le - - - e et o
=
oE
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P doaas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoaso .
1000 pP=—|- - {- -t -r - dqe b e
= 2
= 2
500 =t~ - 4= - or e e e p e ] s
= 8
[0 e e B Rl S I S S R B B o
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. ) . e B

10

10

10°

10

10




run_13081005 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 21 07:02:40 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Wed Mar 21 07:03:14 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

g =
4 =
9] 180 pP——
=] —
< 160 f=—
g b—
4 140
=
120 P
==
100 B
n
80 H
o
60 [
40 =
EE
20 H
H i
0 0 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

140 =
=

120 |-

RMS (ADC-ped)

100
80
60

40 |

20

0
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

140

120

RMS (ADC-ped)

100

80

60

40

20

iiiiiik 'I'I'I".’,LLJ11"I'ITIHII1'I

i
® 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

s 180 =
@ —
2 =
5] 160
o —
<3 =
o 140 f=
= b—
z =
120 p=
100 f—=
=
80 =
60

40

20

0 20 40 60 80 100 120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Wed Mar 21 07:00:41 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

0 1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

1000

2000

3000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

1000

2000

3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

o =
5] = .
o = :
Q 3500 |- - {1 f - EEEE B BEEE R e P EEEE
< =
3000 f=—|- - 9= 1< f - - - (X% B B R B 1 S R EE TR
= 10
=
2500 =g+ - 1=t - (1t B B B [ EELEEl EL TEELLED
= .
2000 f=t—|- - -1 f -0 - 1% B B R B0 1 B R EE TR
= 8
1500 |- [« 4=t <=~ - B B B ] R O R .
1000 P=t—|- A= 41 -f - - -1 EEEE B B ] R R R
= o
oy = I B N N J S R
= 2 A
= . L
[ == SE = oo L = S R S, .
= n n n n n 9 iC
= 1 1 1 1 1 1
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
- 4000 - - - - - - :
g = 10
9 3500 f—
< =
3000 f=—
2500 f—
= 10
2000 f—
=
1500 f— |
=
1000 p=— |
= 1
500 =
B
0 =
b= . . i . i . . i . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=2 "}
- 4000 py
] = . . . .
g = 2 2 2 2 ,
Q 3500 - {-{-}-F--|-1-4- 10
< =
3000 [l - {-{-}-F--|-1-+-
=
2500 fE—-A-{-1-}-F- -} 4-<-
=
2000 [ At 10
=
1500 B 4-1-1-f-r- - 1
1000 B {-1-1-f-r- 1-¢-
L
500 pF—-+- {- o 1
= —
o - - -
s i
20
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
g = o
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1-
= 10
2000 ="~ 1~
=
1500 f= -
1000 P=— - 4 -
=
500 f=— 1| 1+ 1
=
o =i
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=2,APV=4 l
- 4000 p - - - - -
o =
9 3500 |- - - - - - - o RS EER B S - o T R EEEEE
< =
3000 |- - - - - - o S BER B T - o T R EEEEE
H 10
2500 - - - - - - gbacacdloac|ldbads as bdbosas o
rm
2000 |- - - - - - N S I -- A PR
=
1500 pH—|- - - - - - - H EEEEY EEN -- e R
= 1
1000 P - == - - S SETEE EER B T - o T EEEEEE
=
500 pF—|- - - - - -- N TEUEY B 1 - o R
=
(o) = 5 o A1t = e - Syt
= . . . . . 1
Bl . . . i . i . i . i . . i . 10
0 2 40 60 80 100 120

APV channel




run_13081005 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Wed Mar 21 07:02:41 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13081005 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Wed Mar 21 07:03:16 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

60

40

20

] -OCCCEEEEENRNNA]

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

160 fr
I

140

120

100

80

60

40
H

20

0

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

i
120

B L i IIT|‘I1I|HI‘|1I

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

80

60

40

20

A

CCEEEEEEEK]
LIl

o

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

180

160 P—=

140 f—=

b—
120

100

80

60

40 =

20

0

120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Wed Mar 21 07:00:45 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

3000 4000
raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=2,APV=6 }

-
°
[

5
<

10

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

-ped

Al

3000 4000
raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=2,APV=8 }

-ped

Al
S

10?

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=9 l

2000

3000 40(
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000
2500

2000

1500

1000

500

2 -

0

© AR R R A A

N
NE-.

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
o
=
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 8 L L . R

10

10

10°

10

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Wed Mar 21 07:02:42 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13081005 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Wed Mar 21 07:03:17 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

160
140 |
120

100

80

60

40

20

[ ADC RMS for RDO=1,ARM=2,APV=7 }

RMS (ADC-ped)

120

100

80

60

40

20

i
120

SEITATITITTIITE 'rFH—"H'I'I

APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

APV channel




run_13081005 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 21 07:00:50 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13081005 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Wed Mar 21 07:02:44 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 21 07:03:18 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 21 07:00:52 2012

[ ADC for FGT RDO=1,ARM=2,APV=17

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=18

Ag(}ped

1000 2000

3000 40(
raw ADC

[L_ADC for FGT RDO=1.ARM=2.APV=19
—

-ped

Al

1000 2000

3000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=20

-ped

Al

10?

1000 2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=21

1000 2000

|
3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=.

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

L L0 L A A L A A LA i

[[ADC for FGT RDO=1,ARM=2,APV=20 }

4000

80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© T TFATFAT TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=21 }

40

80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
rm:
=
b=
B
=
=
0

APV channel

... 8 .8 . d . B

10

10°

10°

10

10°




run_13081005 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 21 07:02:44 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

PRTTITH

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Wed Mar 21 07:03:18 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

250

O XDOX|

200

150

OEXECOXEOXK]

100

50

Slozcoxcoaxo

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

160 f=
140
120
100
80 =
60
40 b

20

0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

180
160 [
140 [
120 |
100
80
60 |
a0 |5

20

i
120

0

APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

220
200
180
160
140
120

100

—

80
60
40
20

~ R T

® 20 40 60 80

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

1
100

i
120
APV channel

RMS (ADC-ped)

APV channel



run_13081005 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Wed Mar 21 07:00:56 2012

[ADC for FGT RDO=1,ARM=3,APV=0 }

1
[ 1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=1 }

o ADC-ped

0.6f--

0.2~

1
0 1000 2000 3000

[ADC for FGT RDO=LARM=3,APV=2 }

4000
raw ADC

04f--

i
1000 2000 3000

ray

[ADC for FGT RDO=1,ARM=3,APV=3 }

4000
w ADC

1
0 1000 2000 3000

ADC for FGT RDO=1,ARM=3,APV=4 l

4000

raw ADC

0.2~

Il
0 1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=0_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=3,APV=1

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=2 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13081005 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Wed Mar 21 07:02:45 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 21 07:03:19 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 21 07:00:58 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

AODOped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

%DCAped

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1,ARM=3,APV=8 }

AOBCAped

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=3,APV=9 l

0 1000 2000 000 4000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L0 L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

" 1
40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[[ADC for FGT RDO=1,ARM=3,APV=8_}

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=3,APV=9 "}

i
40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° A A A

APV channel

... . L .

10

10°

10°

10

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 21 07:02:45 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Wed Mar 21 07:03:19 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

90

80

70

60

50

40

30

20

10

° 'IIH]IrIIII'I1I|1|H]HI1III'I_IE T

0

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

90 =
80

70

60

50

40

30

20

10

0

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

70 F=

60
F—

50 P

40 =
=
30— | T B[ 5

3

""" H

20

20

10

_!'I_

i
120
APV channel

0

S=CEENIIII0CEEN]
T

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

90

80 :
70
60
50
40
30 E
20 f=——

10

. . . ;
® 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

3

15

0.5

20 40 60 80 100 120
APV channel




run_13081005 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB
Wed Mar 21 07:01:02 2012

[ ADC for FGT RDO=1,ARM=3,APV=12 |

[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=3.APV=13 |

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1.ARM=3.APV=14 ]
—

-ped

Al
S

0 1000 2000 3000 4000
raw ADC

>
Qo
[e]
g
E
@
g
2
3
o
i
>
3
=
;
I
>
3
<
I
&
L

-ped

Al
(=)

10

0 1000 2000 3000 4000
raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

-
°
[
5
<
10*
10
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
of=—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000
2 0 0 0 0 0 g
T
Q .-
8 3500
<

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=3,APV=14 }

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— Sfee-
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
oE— QT
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 f=—- - -
=
=
500 fp=—- - -
=
0 e
=
=
0

[ ADC for FGT RDO=1,ARM=3,APV=16 }
4000

40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. 4 . d e d el

10

10

10

10

10




run_13081005 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Wed Mar 21 07:02:46 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

-500

. . ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i i
Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Wed Mar 21 07:03:20 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

1 ‘V
120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

[ A N T T T

80 |: i B - g Bosaaseaasesasasasasand Bacooans

RMS (ADC-ped)

60

40

20

°'1'I'I'l'f1'l'|'1'l'|']'r'l'

1
120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

70 |5

60

RMS (ADC-ped)

50 [
40
30 E
20 F

10

N N N i
o 20
APV channel

[ADC RMS for RDO=1,ARM=3,APV=15__}

90 f
80 =

70

RMS (ADC-ped)

60

50

40

30

20

10

°TH1|TIH|1II1|HH1.’I1 T

i i i
20 40 60 80 100 120
APV channel

0

| ADC RMS for RDO=1,ARM=3,APV=16 }

100

80 [

RMS (ADC-ped)

60 [+
40 [+

20 -

APV channel




run_13081005 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB
Wed Mar 21 07:01:07 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13081005 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Wed Mar 21 07:02:47 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Wed Mar 21 07:03:21 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Wed Mar 21 07:01:08 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

s T
]
2
Q
EY
10?
10

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=4 }

2000 3000 40(
raw ADC

[[ADC for FGT RDO=1ARM=4,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=4,APV=1 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

10

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=4,APV=2

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

aEldENITERIAGNATGRAARNAGRARRIATENATRNATENAG]

107

[[ADC for FGT

RDO=1,ARM=4,APV=3

3500

ADC-ped

3000

2500 f=

2000

1500

1000

500

0

4000

80

120
APV channel

10

[ ADC for FGT RDO=1,ARM=4,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

10

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13081005 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 21 07:02:47 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

-500

L i i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 21 07:03:21 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

RMS (ADC-ped)

250 ¢
200 c
150 :
100 |-

50 [+

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }

RMS (ADC-ped)

240
220

200 P=
o =
i =

160
140
120
100
80
60
40

20 =

0

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

240
220
200
180
160
140

120 =
100 =
80 =—

60
40

20 |/

0

[0
120
APV channel

RMS (ADC-ped)

240
220

200 =
180

160

140

120
100
80
60
40
20
0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

RMS (ADC-ped)

300 =

250

200

150

100

50

0

120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 21 07:01:13 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

ISC=

imebin=2,Di
02:49 2012

Wed Mar 21 07

run_13081005_FGT_MPV_1,T

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13081005 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 21 07:03:22 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB

Wed Mar 21 07:01:14 2012

[ ADC for

FGT RDO=1,ARM=4,APV=12

3000 4000
raw ADC

ADC for

FGT RDO=1,ARM=4,APV=13

3000 40(
raw ADC

[ Apcfor

FGT RDO=1,ARM=4,APV=14
—

40(
raw ADC

[ ADC for

FGT RDO=1,ARM=4,APV=15

AOBCAped

3000 4000
raw ADC

[ Apcfor

FGT RDO=1,ARM=4,APV=16

-ped

Al

10*

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

10°

APV channel

= 4000 p—
5] =
s =
Q 3500 fm—
< =

3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
=
500 fm—
=
=
==
=
0

[ ADC for FGT RDO=1,ARM=4,APV=13 "}
- 4000
5]

T
9 3500
<

3000

2500

2000

1500

1000

500

0

10

°11II'|1TI |TI1I[I1H|1IH'|HI |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

107

[[ADC for FGT

Py
]

O=1,ARM=4,APV=15_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

APV channel

1 H|'I1II'|HI'I

|r|1|[|1|r|1|r|]n|1

10

[ ADC for FGT

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

10°

APV channel




run_13081005 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 21 07:02:49 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




S5AB

5,asmb

In=2,Disc=
22 2012

b
:03

Ime

Wed Mar 21 07

2}

run_13081005_FGT_RMS_1,T

1,ARM

120

__.__:_: Ll

[CADC RMS for RDO

o 9
S ®
=1

(pad-0av) sy

APV channel
APV channel
APV channel
APV channel
APV channel

120
120

<]
S
=

120

100

60

20

20

=13}
=14}
=15 |
=16}

4,APV:
4,APV:
4,APV:
4,APV:

1,ARM
1,ARM
1,ARM
1,ARM

1]

i) |=—=coo0c0000553c00dhbo

o
I
=

180
160
180
220
140

[ ADC RMS for RDO
[ADC RMS for RDO
[CADC RMS for RDO
[ ADC RWS for RDO



run_13081005 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB

Wed Mar 21 07:01:19 2012

ADC for

FGT RDO=1ARM=4,APV=17 |}

1000 2000 3000 4000
raw ADC

[ AoC for

FGT RDO=1,ARM=4,APV=18 _§

-ped

Al

10

1000 2000 3000 40(
raw ADC

ADC for

FGT RDO=1ARM=4,APV=19 __§
—

i i i
1000 2000 3000 4000
raw ADC

[ ADC for

FGT RDO=1,ARM=4,APV=20

1000 2000 3000 4000
raw ADC

ADC for

FGT RDO=1ARM=4,APV=21 _}|

C-ped

HAD
3

0

1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

I

N
NE-j

[ ADC for FGT RDO=1,ARM=4,APV=18 "}

4000

APV channel

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
=
I
=
rm:
1500 [
=
rm:
I
=
o
=
=
0

[ ADC for FGT RDO=1,ARM=4,APV=19 }

4000

" " 1
100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENATERIAGNATERAARNAGRARRIATENATENATENAG]

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

4000

80

APV channel

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40

[ADCfor FGT

4000

80

100 120
APV channel

3500

ADC-ped

3000 =

2500

2000

1500

1000
500

0

APV channel

.. . s .,

10

10

10

10

10




run_13081005 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 21 07:02:50 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

i i i i
Q 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=4,APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o K
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Wed Mar 21 07:03:24 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

300 [+

250

RMS (ADC-ped)

200 [
150
100

50

[ ADC RMS for RDO=1,ARM=4,APV=18 "}

250

200

RMS (ADC-ped)

150

100

TATITIITIT I1'I'I]'I

50

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=19 |

g = T T T T T T ]
gl 18 e P000009500509595503000EPE00055955530300000000EPEI5553000009000005595 505000000000505595503aP00EREI0000095955630000 SRLELEL
g ; : : :

2 46 | ===seesesceccascaccasg peaoacenaassoasacasond CERGSLLELLELLELLELLEL foocsescanasscacasasasy focacaseasssasessascasg foocseccanasscacasasacy focacse

g

= 14

12
E
08 =
06
04

02 f=

N N N i
o 20
APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

= 18

5 —
]

g

[} 16

o

< o
0 14 |
=

o

12

10

o i . . . i . . . i . . . i . . . i . . . i . . . i
120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Wed Mar 21 07:01:23 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

1000 2000

[ADC for FGT RDO=2,ARM=0,APV=1 }

3000

4000
raw ADC

Ao“ -ped

10

0 1000 2000

[ADC for FGT RDO=2,ARM=0,APV=2 }

3000 4000

raw ADC

-ped

Al
)

1000 2000

[ADC for FGT RDO=2,ARM=0,APV=3 }

3000 4000

raw ADC

C-ped

HAD!
=)

10*

1000

2000

ADC for FGT RDO=2,ARM=0,APV=4 l

3000

4000
raw ADC

1000

2000

3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1I[n|r|1lrl]|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=1 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

il r|1‘1r|1|r|1|[|1|r|1|r|]|r|1|r|1r[|1 II‘|1HI

" 1
2 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=2 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

ili

1 1
20 40 60 80 100 120
APV channel

[[ADC for FGT

RDO=2,ARM=0,APV=3_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

il

© TP TR AT TR I

i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

.4 .0 Eed e .d . a

10°

10

10

10

10°




run_13081005 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 21 07:02:51 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 21 07:03:25 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

RMS (ADC-ped)

200

=
180 f—
160 [
140 f=

120
—

100

80 E

60

40

20

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

RMS (ADC-ped)

140

120

100

80

60

40

20

0

© AT T 1'I'I'rIFH-|-]-1’I'I'[III]'I

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

RMS (ADC-ped)

120

100

80

60

40

20

]

u
— 5
L 5
= :
= :
i i i i i i i
0 20 40 60 80 100 120

APV channel

[CADC RMS for RDO=2,ARM=0,APV=3__}

RMS (ADC-ped)

140 fE

—
120

100 |
80 |

60 [

40

20 [r

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

RMS (ADC-ped)

140

120

100 |

80 E

60
h—

20 [

—
40__
h—

APV channel



run_13081005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 21 07:01:28 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

1000 2000 3000 4000

[ADC for FGT RDO=2,ARM=0,APV=6 }

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=7 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=8 }

1000 2000 3000 40(

raw ADC

-ped

Al

10

1000 2000 3000 4000

[ADC for FGT RDO=2,ARM=0,APV=9 }

raw ADC

-ped

Al

2000 3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=6 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=0,APV=7 }

APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
o = 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0

20 40

[ ADC for FGT RDO=2,ARM=0,APV=9 "}

60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. 8 . L A

10

10

10°

10

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 21 07:02:52 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Mar 21 07:03:26 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

200

180
160

i |H‘I]HI‘|I

RMS (ADC-ped)

140
120
100 [
80
60
40

20

0

o

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=6 }

g =
3 180 f=
=3 =
< 160 =
@ =
= 140 =

]

=y

100 [=

80

40 =

—_
ra—
—
=
r—

20

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=7 }

RMS (ADC-ped)

APV channel

[CADC RMS for RDO=2,ARM=0,APV=8__}

200
180 f—

160 f=

RMS (ADC-ped)

140
120
100
80
60 |
40

20

® i i i
20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

i .
120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Wed Mar 21 07:01:32 2012

[[ADC for FGT RDO=2,ARM=0,APV=12 |
|

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0APV=13 _§

1000 2000 3000 40(

raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=14 ]
—

Agf}ped

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=15

AOBCAped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0APV=16 _§

Agoped

10*

3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10°

i
100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=13 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

i g
120 20
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=14 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

107

20 40 60 80
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=15 }
= 4000 p—
g = : : :
Q 3500 f=—
< =
3000 f=—
= 10
2500 =
2000 [E—
=
1500 f=——
= 1
1000 f=—
500 [—
=
=
= 10"
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
= 4000
g : : : : : . 10
Q 3500 -4q-1-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13081005 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 21 07:02:54 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=16 }

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 21 07:03:27 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

RMS (ADC-ped)

300

250

200

150

100

50

_L'I_'|'I'|'r FI ]1'I'I'I'[ FI 1]-|-|-|-r

L i i i
60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

1
120
APV channel

5 100 [F

2

9]

< :

o 80 I7

@ [

'3
60 [+
a0 [&
20 fr
0

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

= L =y

3 =

g =2

<

=

E i
50 F=—|
=
30 f=—
=
10 f=—

=
0%
[ ADC RMS for RDO=2,ARM=0,APV=15__}

H

s %

o

< 80

(%]

2 70

60

50

40

30

20

10

0

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

140

120

100

80

60

40

20

0

FRRITTTFITT{TTT

L

I

APV channel

°TH|I11'|'I'H




run_13081005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 21 07:01:37 2012

[ ADC for FGT RDO=2,ARM=0,APV=17 | [ ADC for FGT RDO=2,ARM=0,APV=17 |
- — = 4000 p—
3 ] = . . . . . .
2 2 =
ot 9] =
& Q 3500 f=
< =
3000 E=— 10
2500 fm—
10 =
2000 f=——
=
1500 E— 1
10 1000 p=—
=
500 fm——
=
=
o 10™
E i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 | [ ADC for FGT RDO=2,ARM=0,APV=18 "}
L = 4000 p—
3 5] = .
2 2 =
0 8 3500 === <o =
< < = 8
3000 == -+ - Apoeqpgeoessanssces - "
2500 = +|- - - - - B R EE TP -
=
2000 = - - - - - B T -
= o
1500 f=r— |- - - - - -
= . 1
= 8
10 1000 = |- - - - - B R T -
= G
500 = Stk a0 -
= s 2
Of=— -~ e =k o
= a a a a a 5 10
= . . i . . i . . . i . . . i . . . i . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=2ARM=0,APV=19 } I ADC for FGT RDO=2,ARM=0,APV=19 l
- = 4000 p=
3 g = . . . . . .
3 2 = 8 8 8 8 8 2
0. Q 3500 f=—
20 < =
3000 f=— 10
=
2500 [=—
10° =
2000 =
=
1500 f=—— 1
10 1000 f=—
=
500 f=—
= 1
1 = -~
: = i i i i i i
1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=20 | [ ADC for FGT RDO=2,ARM=0,APV=20 |
5 = 4000 p—
3 5] = . .
[ oA =
0 Q 3500 f—| e
< < =
3000 - === seleee .
2500 = P
10 =
2000 =+ === -~ - agpass
=
1500 f=—| e a
10 1000 E— ------- seleee
=
500 f=— |- s e e et e
=
[ S a
= 10
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0.APV=21 | [ ADC for FGT RDO=2,ARM=0,APV=21 "}
= 4000
]
&
Q
Q 3500
<
3000 10
2500
2000
1500 1
1000
500 3ofspomoe
0 S 5 10"
i . . i . . . i . . . i .
0 1000 2000 3000 4000 60 80 100 120
raw ADC APV channel



run_13081005 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 21 07:02:55 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13081005

FGT_RMS_1,Timebin=2,Disc=1,asmb=1CD
Wed Mar 21 07:03:28 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

RMS (ADC-ped)

120

100

80

60

40

20

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

RMS (ADC-ped)

100 |r

[ ADC RMS for RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

100 P - s s e R R PP P PP P PP
[ : 5
o I i i i i i i
0 20 40 60 80 100 120
APV channel

RMS (ADC-ped)

100

80 [+

60 [

40 [

20 |-

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel

120 |
100 |-
80 -
60 [
40 _

20 f

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 21 07:01:42 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

in=2,Disc
56 2012

b
02

Ime

Wed Mar 21 07

0 1]

run_13081005_FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13081005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 21 07:03:30 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Wed Mar 21 07:01:43 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

P
]
2
Q
EY
10?
10

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

-ped

Al
<

3000 4000
raw ADC

1000 2000

[ADC for FGT RDO=2,ARM=1,APV=8 }

-ped

Al
=)

10?

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=9 |

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]m |r|1|[|1|r|1|r|]m |rm[|1|r|1m

0

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
=
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... .0 el A L8

10

10

10

10

10




run_13081005 FGT MPV_1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 21 07:02:56 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+

1000 [+

-500

i i i i
20 40 60 80 100 120
APV channel

[ADC MPV for RDO=2,ARM=1,APV=8__}

MPV (ADC-ped)

1500

1000

500

-500

PR -|-|-|-[1-r1-|-]-'-1-|-|-|-r-|-r1-[1-|-

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Wed Mar 21 07:03:30 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

140 =
120 f=
100

=

80 |

60

20 f=

20

0

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

100

80

60

40

20

h—

o=

M .

— H

L 5

1. i i i i i i

0 20 40 60 80 100 120

APV channel

RMS (ADC-ped)

120 -
100 [+
80 |

60 [+

20

40 [~

i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

140 f=

120

100 |
80 [
60 [+

40 [

20

0

20 40 60 80 100 120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Wed Mar 21 07:01:48 2012

ADC for FGT RDO=2,ARM=1,APV=12

1000 2000

3000 4000
raw ADC

[[_ADC for FGT RDO=2,ARM=1,APV=13

3

ADOpgd

0 1000

2000

3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=1.APV=14
—

1000

2000

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=1,APV=15

AOBCAped

0 1000 2000

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=1,APV=16

-ped

Al

3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=L,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=13 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

A A A

1
120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=14 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAAGNAGRARRIATENATENATENAG]

20 40 60 80
APV channel

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=15_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... 8 .0 0 . el

10°

10°

10°

10

10




run_13081005 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD
Wed Mar 21 07:02:57 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

500

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=15_}

5 T
g : :
S — :
g 1500 [+ 5
< :
> .
g :
g :
1000 f+ h
500 |-
o 5

i i i i i i i

=y Q 20, 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel



run_13081005 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Wed Mar 21 07:03:31 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

1

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

5 E
& T
Q .
a T
< :
%] 0.8
2 E
3 :
06 [
0.4 |-
[
02 [
—
o . . i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}
60

50

RMS (ADC-ped)

40

30

20

10

N N i
20 40 60 80 100 120
APV channel

160 =
140 f—

120 f—

RMS (ADC-ped)

100

80

60

40

20 £

0
APV channel

= 160 ==
2 —
g =
g 140 f—
)
2 120 -
@ o
s
i
100 fF—-[}~
.
80 f—
Y=
40 f—
[—
L= 2
20 p=— :
o = i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Wed Mar 21 07:01:52 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13081005 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD

Wed Mar 21 07:02:58 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Wed Mar 21 07:03:31 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 21 07:01:54 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=2,APV=1 }

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=2,APV=2 }

1000 2000 3000 0
raw ADC

[ADC for FGT RDO=2,ARM=2,APV=3 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=2,APV=4 }

1000 2000 3000 40(
raw ADC

[ ADC for FGT RDO=2,ARM=2,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L A LA L LA A

[ ADC for FGT RDO=2,ARM=2,APV=1

APV channel

4000

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

i i
40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}
= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 fm—---{-
< =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 fm—---1-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
oE—--1
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=2,APV=3 }
= 4000 p—
5] =
& =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 fm—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0

[ ADC for FGT RDO=2,ARM=2,APV=4

40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

| I1|[I1H|1II‘I]HI1|I‘I1I[I1II‘|1HI

500

0

APV channel

.4 . . d A

10

10

10°

10°

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 21 07:02:58 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13081005 FGT _RMS 1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 21 07:03:31 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

RMS (ADC-ped)

TTIETFTT

i
120
APV channel

oHA

[ ADC RMS for RDO=2,ARM=2,APV=1 "}

140 [

120

RMS (ADC-ped)

100

80 [+

60 [

40

20 |-

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

140 |

120

RMS (ADC-ped)

100
80 p—
.
40 p—

20

APV channel

g 180

e

Q

8 160 [
< h—
%)

2 140 P—
o

120 =
100 :
80
60 o

40

20

i i
0 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

180 =

160 =

RMS (ADC-ped)

140 £

120

100
oy

SOE"""t111""""""1r>11"""""""""""11t1r----"rr-1r--11 """ttt rF----F- e

@ | =—=cco|ll[ddfcoscocadHtsilkccscscsoscal|dedHbe|R|ococooococmo000addboadd|foacacscdHl b scccdbocdrococconcocooncocaadb|lahoscocanncocaoacacast
=

wfE—

20 e e f b e b
— . . .

o I= i i .

0 80 100 120

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 21 07:01:59 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




3BC

3,asmb

in=2,Disc
00 2012

b
:03

Ime

Wed Mar 21 07

51

run_13081005_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

2,APV:
2,APV:
2,APV:
2,APV:

2,ARM
LARM:
2,ARM
LARM

2
2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13081005 FGT _RMS 1,Timebin=2,Disc=3,asmb=3BC
Wed Mar 21 07:03:33 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Wed Mar 21 07:02:00 2012

[ ADC for FGT RDO=2,ARM=2,APV=12 |

P
]
5
0
<
10° £4:
10k{:
0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=13 _§

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=14___§
—

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=2,ARM=2,APV=15

C-ped

HAD!
=)

10*

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=16 _§

Agoped

10°

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=12_}

= 4000 p—
5] = . . . . . .
s =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
=
500 fm—
=
=
0 ==
=
0

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=13 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
o=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=2,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
0
APV channel
| ADC for FGT RDO=2,ARM=2,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 .-
<

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. . el e Ll

10

10

10

10

10°




run_13081005 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 21 07:03:00 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 21 07:03:33 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

100

80

RMS (ADC-ped)

HHEA ]

60

=
o . . i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=2,APV=14 "}
= " R S N N N S
2 2 2 2 2 2 2
o
[a}
<
0
s
o
[ADC RMS for

= 80 =
&
g 70 E
<
2 60
['4

50

40

30

20

10

° 11|r|-|1n[r|11|rr|1 TFTTYTITT

0

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=16 }

120 = = L T T T T EEEEEEE

100 |-

RMS (ADC-ped)

80 [+

60 |+

40 [
20 [+
o i . . . i
100 120

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Wed Mar 21 07:02:05 2012

[ ADC for FGT RDO=2,ARM=2,APV=17

1000 2000

3000

ADC for FGT RDO=2,ARM=2,APV=18

raw ADC

4000

0 1000 2000

3000

[ ADC for FGT RDO=2.ARM=2,APV=19
—

40(
raw ADC

-ped

Al

1000 2000

3000

[ ADC for FGT RDO=2,ARM=2,APV=20

40(
raw ADC

-ped

Al
(=)

1000

2000

3000

ADC for FGT RDO=2,ARM=2,APV=21

raw ADC

4000

C-ped

= AD
53

10*

3000
raw ADC

40(

[[ADC for FGT RDO=2,ARM=2,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT
4000

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

1
120
APV channel

[[ADC for FGT,
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

[[ADC for FGT
4000

Py
]

0=2,ARM=2,APV=20_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

of-. ulr-v---

=
=3

40 80 120

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

... ..od el L. A

10

10

10

10

10




run_13081005 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 21 07:03:01 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13081005 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Wed Mar 21 07:03:34 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

250

200

150

100

50

Ii'I-I'I-I'I'I-I-Ii-I'l

S IEC0XC0OXEDO

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

T d#l”rrl'l'l

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

o-HIII:'I-I-I'I‘HH'I-'-

i i
100 120
APV channel

[CADC RMS for RDO=2,ARM=2,APV=20 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

RMS (ADC-ped)

160

140
h—

120

100

80

60

40

20

0

APV channel




run_13081005 FGT_ADC_ 1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 21 07:02:09 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

Aé)oped

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=1 }

1000 200 3000 4000

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=2 }

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=3 }

Agoped

raw ADC

ADC for FGT RDO=2,ARM=3,APV=4 l

0 1000 2000 3000 4000

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

APV channel

= 4000 p—
] = .
e = o
Q 3500 fm— - - - s p e e -
< =
3000 f=—------f----- 1 2
= 8
2500 p=— - mpe o] PR
= .
2000 - - pe- e SLELE
= 5
1500 o s v e e fe e
1000 P=— - - -t e e e
= 8
= .
51 |==0co0000kosa0c0d Sos05
= 2
= .
0 [ ] L
= i
0 20
[ ADC for FGT RDO=2,ARM=3,APV=1 }
= 4000
2 0
T
8 3500 ieeee
<

3000

2500

2000

1500

1000

500

0

°11n]1r|1|r|1|[|1|r|1|r|]|r|1|r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=3,APV=2 }

1
120
APV channel

- 4000 p—=
] = .
& = .
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i
2 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=3 }
- 4000 p—
] = 5
oo =
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=3,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

120
APV channel

APV channel

... 5 .8 ) el B

10

10

10

10

10




run_13081005 FGT _MPV_1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 21 07:03:02 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 21 07:03:35 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

= 160
]

e

8 140

< —
%) —
= 120

o

100

80

60

40

20 [

0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

© AT TTITTTTT

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

140 |+

120 |

RMS (ADC-ped)

100
80 |-

[—
60 [

40
L

20 |

N N N i
o 20
APV channel

140 p—

120 '_

RMS (ADC-ped)

100
80 [
60

40 |

20 f—

. . . ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

140

120 |

RMS (ADC-ped)

100
80 |t
60

g

40 |

20

120
APV channel




run_13081005 FGT_ADC_ 1,Timebin=2,Disc=4,asmb=4BC

Wed Mar 21 07:02:13 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

k=1
@
5

0
<
10°

10

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=7 }

S,

ABC-ped

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=9 |

L — -
°
[
<
10*
10
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

He 4 -

N
NE-.

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

rm
m
rm:
rm:
L
b=
=
L
b=
=
L
b=
=
L
I
0

1
120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

20 40 60 80
APV channel

[[ADC for FGT

Py
]

[}

=2, ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

. . L e

107

10°

10°

10

10




run_13081005 FGT _MPV_1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 21 07:03:03 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Wed Mar 21 07:03:36 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

RMS (ADC-ped)

90

80

70

60 F

50

40

30

20

10

0

i
120
APV channel

RMS (ADC-ped)

400

350

300 [+

250

200

150

100

50

0
0

[ ADC RMS for RDO=2,ARM=3,APV=7 }

RMS (ADC-ped)

100 [+

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

RMS (ADC-ped)

120 |
100 [+
8o [
60 |-
40 |-

20 [

i . . .
100 120
APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Wed Mar 21 07:02:18 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13081005 FGT MPV_1,Timebin=2,Disc=4,asmb=4CD

Wed Mar 21 07:03:04 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1, Timebin=2,Disc=4,asmb=4CD
Wed Mar 21 07:03:37 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Wed Mar 21 07:02:19 2012

ADC for FGT RDO=2,ARM=3,APV=17

] [[ADC for FGT RDO=2,ARM=3,APV=17_}

1000 2000

3000 4000
raw ADC

[[_ADC for FGT RDO=2,ARM=3,APV=18

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=19
—

Agf}ped

10?

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=20

-ped

Al
=)

10?

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=21

-ped

Al

0 1000 2000

3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A A

[ ADC for FGT RDO=2,ARM=3,APV=18

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=3,APV=19

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
60 80 100 120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=3,APV=20

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

60 80 100 120
APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel

... 4 ., 8 .0 3

10

10

10°

10

10



run_13081005 FGT MPV_1,Timebin=2,Disc=4,asmb=4CD
Wed Mar 21 07:03:05 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT _RMS 1, Timebin=2,Disc=4,asmb=4CD
Wed Mar 21 07:03:38 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

140 fm—
120 f—
100 =
—
W=
=
60 f—
40 p—
=
D=
=
® 0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

160 |§E=eooeco0s0s0000500a fpoocsosoooasasaasoacasd R L R EE LR
i : :

EH
140 EH
120 [
100
80
60
40

20 e R R TP R P

APV channel

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

TT

140

120

T

100

80

60 [+

40

20

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 21 07:02:24 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

In=2,Disc=
06 2012

imeb
03

Wed Mar 21 07

run_13081005_FGT_MPV_1,T

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13081005 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 21 07:03:39 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13081005 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC

Wed Mar 21 07:02:26 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=7 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=8 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=9 |

1000

2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f/—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
- . " i . " . i . . . i . . . i . . L i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 f=——
=
1500 f=——
1000 pP=—
=
500 f=—
=
U ==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0

APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.1 E.d e d e .

10

10

10

10

10




run_13081005 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 21 07:03:06 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Wed Mar 21 07:03:39 2012

[CADC RMS for RDO=2,ARM=4,APV=5__J

RMS (ADC-ped)

180 [

h—
mml

160

140 [
120

100

80
60
40

20

APV channel

RMS (ADC-ped)

=

160 P—

140

120

100

80
60

=

=

40 |r

20

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=7 }

RMS (ADC-ped)

180
160
140
120
100
80
60 =
40

20

0
APV channel

[CADC RMS for RDO=2,ARM=4,APV=8__}

RMS (ADC-ped)

180 =
160
140
120
100
80 £
60 |2
40 =

20 =

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=9 "}

RMS (ADC-ped)

160 P—
e

140 =
120
100
80
60
40

20

APV channel



run_13081005 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Wed Mar 21 07:02:30 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13081005 FGT MPV_1,Timebin=2,Disc=5,asmb=5CD

Wed Mar 21 07:03:07 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13081005 FGT RMS 1, Timebin=2,Disc=5,asmb=5CD
Wed Mar 21 07:03:40 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




